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QID:1-
In the following question, select the number which
can be placed at the sign of question mark (?) from
the given alternatives.

Teafafa oy # Ry or foeeat & @ uw B
(?) & TG W HA qN TEAT H AT

8 | 1 4 110
4 123 |11
B |2 | & | R

Options:
1) 17

2) 19
3)21

4) 23
Correct Answer: 19
Candidate Answer: 19

QID:2-
How many triangles are there in the given figure?

& a$ st 3 freer Peger 7

Options:
1)8

2) 12
3) 14

4) 16
Correct Answer: 16
Candidate Answer: 14
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A word is represented by only one set of numbers as given in any one of
the alternatives. The sets of numbers given in the alternatives are
represented by two classes of alphabets as shown in the given two
matrices. The columns and rows of Matrix-l are numbered from 0 to 4 and
that of Matrix-l are numbered from 5 to 9. A letter from these matrices can
be represented first by its row and next by its column, for example, ‘Q’ can
be represented by 23, 59, etc., and ‘V’ can be represented by 30, 66, etc.
Similarly, you have to identify the set for the word “FAST”.

THh G hadl Uh FEAT-AAE GRT GRIAT T §, ofr f6 faweut F &
ol T A e R ) faweut # BU v WEr-wes HaRy & ar ant
ERT geife arw ¥ Star 5 B aw @) smeggt & ¥ Inege & waEd IR
ufth & T 0 ¥ 4 § AR WPENH 5 F 91 3T YR A TH HER
B upel sEH i AR ag # Taw dEar err gutur ST oasar ¥
3GIRA0T @ fow ‘@ @t 23, 59, TG gRT G ATAT ST Fehdl & AAT VM 30,
66, 3G ERT GAAT S Thar ¥1 W a¥e @ ud ux FA Ru uxg
“FAST” & folv @ap & ugaEer ¢

Matrix-1 Matrix-ll

el -l
0|1]2(3]4 5|6(7]8|9
0O|B|M|U|A|F S|IDIN[X|G|Q
1IHIE|O(W|D 6|L|V|E|O|Y
2(P|J|[G|Q|Y 7|S(T(C[M|W
FTVERITE L IS 8/HIR|IB|K|U
4 Z[X|T|N|K 9|F|P|A|Il|S

Options:

1) 04, 03, 77,76

2) 95,97, 99, 24

3) 04, 97, 34, 42

4) 95, 03, 97, 40

Correct Answer: 04, 97, 34, 42
Candidate Answer: [ NOT ANSWERED ]

QID: 4-
From the given answer figures, select the one in
which the question figure is hidden/embedded.

& 7 3R WAt F ¥ 3@ T HglA F AT
orw # vy ampfa Bfea &

A
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ptions:
1)

2)

3)

4)

Correct Answer:

Candidate Answer:

QID:5-
Which answer figure will complete the pattern in the
question figure?

Fld W IR HPlA TH HPa & Tawd & QO

HLET?
7|2
q
N1/
N | A
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Correct Answer:

Candidate Answer:

QID:6-
If a mirror is placed on the line AB, then which of the
answer figures is the right image of the given
figure?

afg T gUUT F AB @1 W I@T AT, ar & T
TR HEAAT A T Bl O dpla gl Hr
e ufafasa @ef?
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Options:

1)

I//,:

4)

24

Correct Answer:

g

Candidate Answer:

g

QID:7-

A piece of paper is folded and punched as shown
below in the question figures. From the given
answer figures, indicate how it will appear when
opened?

@ & uH FElaal A R@T IHgER FEE H
AlZFR Ded dUT Weldd & d1g a8 fhd 3R g
s s e

& || o
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Options:
1)

2

—

3

—~

4

~

@ Q) [ [©

Correct Answer:

Candidate Answer: [ NOT ANSWERED ]

Vo

QID: 8 - If 'X' means '+', '+' means '-', '-' means 'x' and '+' means '+', then 48 + 16 -4 x2 =7

IR K FIT '+, R HFT S, S F I U FHAT @, A48+ 16-4x2 =72
Options:

1) 14

2)20

3) 16

4) 23
Correct Answer: 14
Candidate Answer: 14

QID:9-If4x1x3x2=24and6x2x1x0=0,then9x2x1x3="?

Ifr4x1x3x2=24Ta6x2x1x0=08,@A9Ix2x1x3="?

Options:
1)6

2) 44
3) 50

4) 54
Correct Answer: 54
Candidate Answer: 54

QID : 10 - Arrange the given words in the sequence in which they occur in the dictionary.

1. Crown
2. Custom
3. Cable
4. Cupid
5. Creep

e Qreal 1 Qreeehier # 3= ATl el & TTaR ford|

1. Crown
2. Custom
3. Cable
4, Cupid
5. Creep
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Options:
1) 32154
2) 31524
3) 35142
4) 31254

Correct Answer: 35142
Candidate Answer: 35142

QID : 11 - In the following question,select the missing number from the given alternatives.
13,17, 30,47,77,124,?
TerAfafed weat # v a1v fashedl & § ofv 37 AT HIioIv|

13,17,30,47,77,124,?
Options:

1) 205

2) 201

3) 209

4) 211

Correct Answer: 201

Candidate Answer: 201

QID : 12 - In the following question, which one set of letters when sequentially placed at the gaps in the given letter series shall complete it?
p_rspq_sp_r_pqrs

TeeATaTEe woal & 37&RT 1 Fiel AT HHE WIell TUTAT T HHAIR TG F & 7S &R STl I G HIM?

p_rspq_sp_r_pqrs
Options:
1) rsgs

2)rgrq
3) gsqs

4) grgs
Correct Answer: qrgs
Candidate Answer: qrgs

QID : 13 - In the following question, select the odd word pair from the given alternatives.

fAFATTad weat & fow 1T fashedl & & fava eree 98 &1 giav|
Options:

1) Sun : Star

qF AT

2) Moon : Star

TGAT : dRT

3) Earth : Planet

gt : Ig

4) Mercury : Planet

Correct Answer: Moon : Star
TGHAT : ART

Candidate Answer: Sun : Star

& an
QID : 14 - In the following question, select the odd number pair from the given alternatives.

ferAfated weat # fev 1w fashedt # & fave dear 374 1 giv|
Options:
1)11:13
2)29:31
3)37:43

4)67:71
Correct Answer: 37 : 43
Candidate Answer: 11 : 13

QID : 15 - In the following question, select the odd letters from the given alternatives.

TF=ATe e oot # 74T 1T fashoutl & & fawer 37&RT &I giav|
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2) 0Q
3)IK

4) AD
Correct Answer: AD
Candidate Answer: AD

QID : 16 - Identify the diagram that best represents the relationship among the given classes.

School, Principal, Teacher
T 3@ AT S 7 T 7 Fait & e 3 Heer T /e HEI0T A 5

e, TuETEN, s

Options:
1)

2)

3)

©
Qm

Correct Answer:

Candidate Answer:

©

QID : 17 - In the following question, select the related word from the given alternatives.

Gloves:Hand::Cap:?
Frafafld weat # Ry arw fashedl # & Geftid ereq 1 9w

gEane g EdY: ?
Options:

1) Head

KRy

2) Arm

g

2
3) Summer

A

4) Cotton

U

Correct Answer: Head

&R

Candidate Answer: Head

&R
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QID : 18 - In the following question, select the related number from the given alternatives.
118:129::141:7?

frafaf@d weat # fow av fasmedt # & Hefta den 1 gfav)

118:129::141:?

Options:

1) 152

2) 163

3) 126

4) 84
Correct Answer: 152
Candidate Answer: 152

QID : 19 - In the following question, select the related letters from the given alternatives.
LNJ:MPM::SAC:?

TPrAfafld weat # U arv fashedt # @ Haiftra 3R &1 giaw

LNJ:MPM::SAC:?

Options:

1) TCF

2) TDF

3) UDE

4) UCE
Correct Answer: TCF
Candidate Answer: TCF

QID : 20 - In the following question, select the word which cannot be formed using the letters of the given word.

DETERMINES

Tt fashodl & & dg oreg YT ST ET 7T 2reg & 3R T TN 7eh LT S=A1AT ST HebelT|
DETERMINES

Options:

1) MINE

2) RINGS

3) DIME

4) RENTS
Correct Answer: RINGS
Candidate Answer: RINGS

QID: 21 - In a row of plants, green plant is 21st from both the ends. How many total plants are there in the row?
atelt iy vk bt ), g7 dterr 21t oRY & 21 af | 9fFd & gt ety ey §2

Options:

1)41

2) 42

3) 43

4) 40
Correct Answer: 41
Candidate Answer: 41

QID : 22 - Present age of N is 32 years. 8 years ago ratio of ages of N and P was 3 : 2. What will be P's age (in years) after 5 years?

N T T 37 32 a¥ 81 8 a¥ qd N T P &Y 371G 7 31791l 3 : 2 UT1 5 ¥ geare P hr 30y (st &) 4 ghefr?

Options:
1) 34

2) 24
3)29

4) 39
Correct Answer: 29
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Candidate Answer: [ NOT ANSWERED ]

QID : 23 - In the following question below are given some statements followed by some conclusions. Taking the given statements to be true even if they seem to
be at variance from commonly known facts, read all the conclusions and then decide which of the given conclusion logically follows the given statements.

Statements:
1. Some cups are chairs.
II. All chairs are tables.

Conclusions:
1. Some tables are cups.
II. Some chairs are tables.

A T 1T e A Fo HUA 3R 37 e 37 HUAT W IR Fo5 fAshy w10 §, g7elifh 37087 Gy A1t aedlt & Beaa gf Fheh §1 T sy ud 3k e
i ¥ 5 T av ey & vy, fw 1w et & 3maR o giFaserd 8

FYe:
1. $o H9 AT 8 |
I1. et HT A 1

sy

L $T AT FT 8|

I1. F5 Far 3 &

Options:

1) Only conclusion (I) follows.

haref forsehd (1) T &1

2) Only conclusion (II) follows.

Faer s (I1) wé &1

3) Both conclusion follow.

et & fFshy w@e §

4) Neither conclusion (I) nor conclusion (II) follows.
& ar TSy (1) oF & forsay (I1) F8T 81

Correct Answer: Both conclusion follow.

gt & vy T €

Candidate Answer: Only conclusion (II) follows.

Faer sy (I1) TEr &

QID : 24 - In a certain code language, "CLOVE" is written as "DNRZJ". How is "FRUIT" written in that code language?

s faflIse #3 $79T &, "CLOVE" &' "DNRZJ" forar SI1aT § | 3 $13 $T9T & "FRUIT" &t {5 R for@r sireem?

Options:

1) GTXMY
2) GTYMZ
3) GUXMY
4) GUXNY

Correct Answer: GTXMY
Candidate Answer: GTXMY

QID : 25 - In a certain code language, "SAM" is written as "13119" and "NIP" is written as "16914". How is "PEN" written in that code language?

s fafRIse #g s7wr &, "SAM" FT "13119" TAT "NIP" &1 "16914" for@r ST &1 39 @i 69T & "PEN" & fhd g fora@r sireem?

Options:
1) 16514
2) 14516
3) 14156
4) 17551

Correct Answer: 14516
Candidate Answer: 14516

QID : 26 - What is the unit digit of 729 x 562 + 155?

729 x 562 + 155 & SIS 37 FT §?
Options:

1)3

2)2

3)4

4)6

Correct Answer: 3

Candidate Answer: 4
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QID: 27-
If 1082 = 11664, then what is the value of
J1.1664 +/116.64 ?

Ifg1082=11664 &, ar [1.1664 +116.64 T

AT FIT &2
Options:
1) 10.88
2) 11.08
3) 11.88

4) 10.08
Correct Answer: 11.88
Candidate Answer: [ NOT ANSWERED ]

QID: 28 -

What is the value of {15 + 6J§ ?

15 + 6./6 &T AT FIT &7

Options:
1)5+3v6

2)5-3v6
3)3+6

4)3-+6
Correct Answer: 3 + V6
Candidate Answer: [ NOT ANSWERED ]

QID : 29 - Which one is the largest fraction among 5/7, 7/9 and 11/13?

5/7,7/9 a7 11/13 & ¥ A 37 et HleT AT R?

Options:

1)5/7

2)7/9

3) 11/13

4) All are equal

o e E

Correct Answer: 11/13

Candidate Answer: [ NOT ANSWERED ]

QID : 30 - What is the Highest Common Factor of 24, 40 and 120?

24, 40 TAT 120 FT HAgcdH THIITS FIT &7

Options:

1)8

2)4

3) 12

4) 40

Correct Answer: 8
Candidate Answer: 4

QID: 31 - If N = (V8 + V5)/(V8 — V5), then what is the simplified value of 1/N?

afe N = (V8 + V5)/(V8 = V5) &, @ 1/N T ATellehe AN T &2

Options:
1) 13-2v40

2) (13 - 2v/40)/30
3) (13 - 2v40)/3

4) (3 - 2v40)/3
Correct Answer: (13 — 2v/40)/3
Candidate Answer: [ NOT ANSWERED ]
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QID : 32 - X and Y together complete a piece of work in 15 days. Y alone can complete the same work in 25 days. They took Rs. 5600 to complete the work
together. What will be the share (in Rs) of X?

X m Y Torent el & &t 15 oot 3 o1 it §1Y 37eholl 36 1 1 25 oot 31 OR7 X HehelT §1 3o6ieT 39 14 &1 AT FAeRY q &¥e o forw 5600 ¥ forr| X &7
TR (T #) et gom?

Options:

1) 4000

2) 2100

3) 2800
4) 2240

Correct Answer: 2240
Candidate Answer: 2800

QID: 33 - A, B and C can complete a piece of work in 5, 10 and 15 days respectively. A, B and C took Rs. 8800 to complete the same work together. What will be
the share (in Rs) of B?

A, B T C e &1 &1 el 5, 10 T 15 et 3 QU X Hehct §1 A, B 4T C o A1 AT 38 &1 & QU et & foiw 8800 & fordr| B &1 feedm (% #) e gham?

Options:
1) 3200
2) 2800
3) 2400
4) 1600

Correct Answer: 2400
Candidate Answer: 2800

QID : 34 - If the side of a cube is 12 cm, then what is the volume (in cm3) of the cube?

I v aeT &7 o 12 A §, A o & e (S ) Fn g
Options:

1) 144

2) 1728

3) 864

4) 432
Correct Answer: 1728
Candidate Answer: [ NOT ANSWERED ]

QID : 35 - After giving a discount of 25% on an article, there is still a profit of 25%. If no discount is given, then what will be the profit percentage?

T TE] T 25% HT TT &o¥ & TR 377 25% T o1 31T §| IS FNS TT o7 &1 ST, A reT Tfevered 7 grem?

Options:

1) 62.5%

2) 33.33%

3) 50%

4) 66.66%

Correct Answer: 66.66%

Candidate Answer: 50%

QID : 36 - Two successive discounts of 40% and 30% are given. What will be the net discount (in percentage)?

40% AT 30% T & AT T & STl &1 Faer (<) g (gfaerd #) Far grefr?

Options:

1) 58

2)70

3) 66

4) 62

Correct Answer: 58

Candidate Answer: [ NOT ANSWERED ]

QID : 37 - 500 litres of milk solution has 40% milk in it. How much more milk should be added to make it 60% in the solution?

500 +f1eX & g8 & aiel 3 40% ¥ ¥ fohctetr 3R g@r e fear s arfeh 5@ €l 7 g8 &1 AT 60% o S?

Options:
1) 250

2) 100
3) 150

4) 200
Correct Answer: 250
Candidate Answer: 250
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QID : 38 - In a school, the ratio of boys and girls is 4 : 7 and the ratio or girls and teachers is 13 : 2. What is the respective ratio of students and teachers?

W faeTerd o5 R TSRl T 31TdTet 4 @ 7 § U7 TSRl Ut eI ST AT 13 1 2 §1 BIAT oUT HEATTRT T SHAA: T FAT §2

Options:
1)21:4

2) 143 : 14
3)133:15

4)31:5
Correct Answer: 143 : 14
Candidate Answer: [ NOT ANSWERED ]

QID : 39 - Average of 39, 51, 86, 77, 43, 92 and y is 65. What is the value of y?

39, 51, 86, 77, 43, 92 AT y &7 3 65 &1 y &1 AT T §?
Options:

1) 73

2)71

3) 67

4) 63
Correct Answer: 67
Candidate Answer: [ NOT ANSWERED ]

QID : 40 - If the ratio of selling price and cost price is 4 : 5 respectively, then what is the loss percentage?

TS e Hed oY1 ST Hed 1 haAQl: 3T 4 : 5 8, A g1fay ufcrerd aram 82
Options:

1) 10

2) 16.66

3) 12,5

4) 20
Correct Answer: 20
Candidate Answer: [ NOT ANSWERED ]

QID : 41 - An article is sold at 20% loss. If the selling price is increased by 40%, then what is the profit percentage?

Teh aE] I 20% 1 glfel I ST 1T & | I Tashar 7o ol 40% & qraT SATelm &, ot ey ufererd arm 82
Options:

1) 12

2) 20

3) 18

4) 32
Correct Answer: 12
Candidate Answer: 12

QID : 42 - What is the value of 25% of 40% of 4800?

4800 & 40% T 25% T AT FAT &7

Options:
1) 436
2) 360
3) 480
4) 320

Correct Answer: 480
Candidate Answer: [ NOT ANSWERED ]

QID : 43 - 16% of which number is equal to 20% of 480?

TR T&IT T 16%, 480 F 20% F s TR §7?

Options:
1) 520

2) 680
3) 600

4) 720
Correct Answer: 600
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Candidate Answer: [ NOT ANSWERED ]

QID : 44 - A train crosses a platform in 40 seconds travelling with a speed of 54 km/hr. If the length of the train be 150 metres, then what will the length (in
metres) of the platform?

Wiﬂ?ﬂgﬁ%ﬁ:.ﬁ./dﬂﬁﬂﬁ#ﬂﬂﬁ@ﬁ%ﬁﬁ% JHUS H IR FT il &1 TS YIS Y TS 150 FHe ol §, Y Tolchid Sl oiFaTs (FeT 7) Far
grefre

Options:
1) 300
2) 450
3) 500
4) 550

Correct Answer: 450
Candidate Answer: [ NOT ANSWERED ]

QID : 45 - Speed of a boat is 10 km/hr in still water and the speed of the stream is 2 km/hr. If the boat takes 10 hours to go to a place and come back, then what
is the distance (in km) of the place?

AT STl F oA1a Y a1fey 10 fo. Y. /eier § e ey &y a1fey 2 fonafr. der §1 afe ara 10 & #F forelr oY e STt araw 31 el €, gt (.. ) foraelt 2

Options:

1) 36

2) 42

3)48

4) 60
Correct Answer: 48
Candidate Answer: 48

QID : 46 - A certain amounts triples in 8 years, when invested at simple interest. In how many years will it become 17 times?

oo fARe TRy arReT sare W Ader et ) 8 a¥ # fAageh 8t Svelh 81 g fhder at 7 17 g 81 Srwah?

Options:

1) 56

2) 64

3)51

4)75

Correct Answer: 64
Candidate Answer: 51

QID: 47 -
The line chart given below shows the number of
engineering colleges in Delhi and Mumbai for given 5
years?

o o v @ R # Reh gwr gees &
sehfarafier frafaareat & gear & g @ &

~*~Delhi/ et ™ Mumbai / HF=$

250 ~
180 192 193

200 - 1§u9’/4———0

50 60 62 85 70

._____......——I-——-l——‘.

T T T T 1

2000 2001 2002 2003 2004
Year / a¥

Number of colleges
freafagareal Hr aean
o o o

o O O O

In year 2000, number of engineering colleges in Delhi is how much percent more than number of engineering colleges in Mumbai?

a¥ 2000 #, feeel & gohforafier faeafaearer i dear grag & el farafacarerl & dear & fhder gfaerd i 82
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Options:

1) 300

2) 200

3) 100

4) 66

Correct Answer: 200

Candidate Answer: [ NOT ANSWERED ]

QID: 48 -
The line chart given below shows the number of
engineering colleges in Delhi and Mumbai for given 5
years?

o fm ow mm Re # R dw grem A
sshfaafer frafaaremt fr =ar & geiar mam &

~*~Delhi/ f§eelt ™ Mumbai / HF$

250 ~
180 192 193

200 - 15”&19/”‘—_*

Ef—___—..e.o——s.zl—-__e.&;___?.o
2000 2001 2002 2003 2004
Year /3§

Number of colleges
farafagzmeral Hr aean
o o o

o O O O

What is the total number of engineering colleges in Mumbai from year 2000 to 2004?

a¥ 2000 ¥ I 2004 T HFaE & goNferaRer faeafaezrerdt i gor deam fhdeh 82
Options:

1) 311

2) 319

3) 288

4) 307

Correct Answer: 307

Candidate Answer: [ NOT ANSWERED ]
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QID: 49 -
The line chart given below shows the number of
engineering colleges in Delhi and Mumbai for given 5
years?

o o oo W Ry & Reh gwr gres &
sehfarafier frafaareat & gar & g & &

~*Delhi/fgeedlt ™ Mumbai/ HF=$

250 -
180 192 193

17
5.0______?.0——6.——-‘__-.26570

2000 2001 2002 2003 2004
Year /9§

- A N
o O O
o O O
1 1 1

Number of colleges
farafagare Hr aea
[¢)]
o O

What is the average number of engineering colleges in Delhi for given 5 years?

qw 3w 5 aut & fow ool 7 gehfaaier favafdearear i siaa gear #1 §?

Options:
1) 173
2) 178
3) 177
4) 181

Correct Answer: 177
Candidate Answer: [ NOT ANSWERED ]

QID: 50 -
The line chart given below shows the number of
engineering colleges in Delhi and Mumbai for given 5
years?

o jr ow @ R # Reeh aw gFes #
sohferafier frafaareat & F&ar & gifar ar §)

~*~Delhi/ f§eelt ™ Mumbai / HF§

250 +
180 192 193

200 - 170

50._____—6.0_6.——_.__-_.26570
2000 2001 2002 2003 2004
Year/a¥

Number of colleges
farafagzrerl $r aea
-— —
o O O,
o O O O
1 1 1

In Delhi, number of engineering colleges in year 2002 is what percent of number engineering colleges in year 2000?

Tl #, av 2002 #F Sohfeafer farafaezrert H Fear a¥ 2000 # sShfaaRer farafaearest @ @& 1 fhdar gfaerd §7?
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(:;):g:)ns.
2) 130
3) 125
4) 150
Correct Answer: 120

Candidate Answer: [ NOT ANSWERED ]

QID : 51 - In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate option.
If a sentence is free from error, select 'No Error'.

Here is which (1)/ you can expect in (2)/ your paper. (3)/ No Error (4)

Options:
1)1

2)2
3)3

4)4
Correct Answer: 1
Candidate Answer: [ NOT ANSWERED ]

QID : 52 - In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate option.
If a sentence is free from error, select 'No Error'.

A fresh mind go a (1)/ long way in helping (2)/you perform at your peak. (3)/ No Error (4)

Options:
1)1

2)2
3)3

4) 4
Correct Answer: 1
Candidate Answer: [ NOT ANSWERED ]

QID : 53 - In the following question, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out of the four and indicate
it by selecting the appropriate option.

The First world war broke in 1914,

Options:
1) up

2) out
3) away

4) off
Correct Answer: out
Candidate Answer: up

QID : 54 - In the following question, the sentence given with blank to be filled in with an appropriate word. Select the correct Iternative out of the four and indicate
it by selecting the appropriate option.

Rahul Dravid a century in that match.

Options:
1) bowled

2) played
3) scored

4) ran
Correct Answer: scored
Candidate Answer: played

QID : 55 - In the following question, out of the given four alternatives, select the one which best expresses the meaning of the given word.

Scarce
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2 Houndart
2) Limited
3) Sufficient

4) Plenty
Correct Answer: Limited
Candidate Answer: [ NOT ANSWERED ]

QID : 56 - In the following question, out of the given four alternatives, select the one which best expresses the meaning of the given word.

Obedient

Options:
1) Rebellious

2) Unwilling
3) Selfish

4) Devoted
Correct Answer: Devoted
Candidate Answer: Devoted

QID : 57 - In the following question, out of the given four alternatives, select the one which best expresses the meaning of the given word.

Pleasant

Options:
1) Nasty

2) Amusing
3) Unfriendly

4) Troubling
Correct Answer: Amusing
Candidate Answer: [ NOT ANSWERED ]

QID : 58 - In the following question, out of the given four alternatives, select the one which is opposite in meaning of the given word.

Proficient

Options:
1) Clumsy

2) Capable
3) Effective

4) Expert
Correct Answer: Clumsy
Candidate Answer: Effective

QID : 59 - In the following question, out of the given four alternatives, select the one which is opposite in meaning of the given word.
Divine

Options:
1) Beautiful

2) Lowly
3) Celestial

4) Heavenly
Correct Answer: Lowly
Candidate Answer: Lowly

QID : 60 - In the following question, out of the given four alternatives, select the one which is opposite in meaning of the given word.

Courtesy
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Options:
) Cordalty
2) Rudeness

3) Culture

4) Gentleness
Correct Answer: Rudeness
Candidate Answer: [ NOT ANSWERED ]

QID : 61 - In the following question, out of the four given alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.

In the soup

Options:

1) Avoiding responsibility
2) Making progress

3) In a difficult situation
4) Giving a chance

Correct Answer: In a difficult situation
Candidate Answer: [ NOT ANSWERED ]

QID : 62 - In the following question, out of the four given alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.

In the nick of time

Options:
1) In search of something

2) Just in time
3) In a hurry

4) After a long period of time
Correct Answer: Just in time
Candidate Answer: [ NOT ANSWERED ]

QID : 63 - Improve the bracketed part of the sentence.

(Capabling) customers to discover the best life style products.

Options:
1) Developing

2) Enabling
3) Capturing

4) No improvement
Correct Answer: Enabling
Candidate Answer: [ NOT ANSWERED ]

QID : 64 - Improve the bracketed part of the sentence.

I called you, (and) you didn't pick the call.

Options:
1) so

2) for
3) but

4) No improvement
Correct Answer: but
Candidate Answer: [ NOT ANSWERED ]

QID : 65 - In the following question, out of the four given alternatives, select the alternative which is the best substitute of the phrase.

Search for something

Options:
1) Retreat

2) Vocation
3) Indecision

4) Quest
Correct Answer: Quest
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Candidate Answer: [ NOT ANSWERED ]

QID : 66 - In the following question, out of the four given alternatives, select the alternative which is the best substitute of the phrase.

Signal under martial law for people to remain indoors.

Options:
1) Detention

2) Curfew
3) Red-Alert

4) Cold-war
Correct Answer: Curfew
Candidate Answer: [ NOT ANSWERED ]

QID : 67 - In the following question, a word has been written in four different ways out of which only one is correctly spelt. Select the correctly spelt word.

Options:
1) Exhibit

2) Axhibit
3) Exibit

4) Esibit
Correct Answer: Exhibit
Candidate Answer: [ NOT ANSWERED ]

QID : 68 - In the following question, a word has been written in four different ways out of which only one is correctly spelt. Select the correctly spelt word.

Options:
1) Financhal

2) Financial
3) Fianical

4) Fenancial
Correct Answer: Financial
Candidate Answer: [ NOT ANSWERED ]

QID : 69 - Rearrange the parts of the sentence in correct orde.

The companionship

P: is almost universally

Q: valued by mountaineers

R: provided by climbing together

Options:
1) RPQ

2) PQR
3) QRP

4) RQP
Correct Answer: RPQ
Candidate Answer: RQP

QID : 70 - Rearrange the parts of the sentence in correct order.

Life is

P: a mute creature as
Q: as dear to

R: it is to a man

Options:

1) RPQ

2) QPR

3) QRP

4) PQR

Correct Answer: QPR

Candidate Answer: [ NOT ANSWERED ]
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QID : 71 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

Global warming is a atmospheric issue all over the world. Our earth's becoming hot day by day by the sun's heat and rise in the level of
atmospheric carbon dioxide. The bad effects of it are increasing day by day and major problems to the living of human being. It has become one of the
subjects of big social issues which need social to a great level.

Global warming is a

Options:

1) sweet

2) not

3) bitter

4) major

Correct Answer: major
Candidate Answer: bitter

QID : 72 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

Global warming is a atmospheric issue all over the world. Our earth's becoming hot day by day by the sun's heat and rise in the level of
atmospheric carbon dioxide. The bad effects of it are increasing day by day and major problems to the living of human being. It has become one of the
subjects of big social issues which need social to a great level.

Our earth's is becoming

Options:
1) soil

2) surface
3) globe

4) atmosphere
Correct Answer: atmosphere
Candidate Answer: globe

QID : 73 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

Global warming is a atmospheric issue all over the world. Our earth's becoming hot day by day by the sun's heat and rise in the level of
atmospheric carbon dioxide. The bad effects of it are increasing day by day and major problems to the living of human being. It has become one of the
subjects of big social issues which need social to a great level.

the sun's heat

Options:
1) trapping

2) crapping
3) scrapping

4) frapping
Correct Answer: trapping
Candidate Answer: scrapping

QID : 74 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

Global warming is a atmospheric issue all over the world. Our earth's becoming hot day by day by the sun's heat and rise in the level of
atmospheric carbon dioxide. The bad effects of it are increasing day by day and major problems to the living of human being. It has become one of the
subjects of big social issues which need social to a great level.

increasing day by day and major

Options:
1) tossing

2) bossing
3) causing

4) losing
Correct Answer: causing
Candidate Answer: losing
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QID : 75 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

Global warming is a atmospheric issue all over the world. Our earth's becoming hot day by day by the sun's heat and rise in the level of
atmospheric carbon dioxide. The bad effects of it are increasing day by day and major problems to the living of human being. It has become one of the
subjects of big social issues which need social to a great level.

which need social to a great level.

Options:
1) awareness

2) miracle
3) marketing

4) boycotting
Correct Answer: awareness
Candidate Answer: [ NOT ANSWERED ]

QID : 76 - Which among the following is a factor of production?

1. Land
2. Labour
3. Physical capital

Rfaf@d J @ wie v 3cures T FRSF 82

1.5

2. 587

3. sitfa it

Options:

1) Only I

Hhael I

2) Both I & II

I 2 11 et

3) Both II & III

11 g2 111 gt

4) All I, IT & III

I, I1 2T 111 |y

Correct Answer: All I, IT & III
I, 11 2 111 @siY

Candidate Answer: Both I & II
I 21 11 =t

QID : 77 - Which among the following comprises terms of credit?

1. Interest rate
2. Collateral
3. Documentation requirement

rAfaf@d & ¥ e Hf3e & Aeus &1 82

1. R

2. §NfAdwH

3. GEATAS Y ATaRIHT
Options:

1)Only I

Hael I

2) Only II

el 11

3) Only III

Shaer 111

4) All T, IT & III

I, II o2 IIT |ai
Correct Answer: All I, IT & III
I, IT 2 111 &eir

Candidate Answer: Only III
et 111

QID : 78 - Which among the following in not an organ of Indian government?

Rfaf@d F @ Sl a1 9IRT TSR FHT T 397 7Y 8?2
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Options:
1)pThe legislature
fenfier
2) The Executive
EapEicEny
3) The Judiciary
FITIITToIRT
4) The Media
#ifsar
Correct Answer: The Media

EIER)

Candidate Answer: The Executive

FryaTforRT

QID : 79 - How many types of writs can be issued in Indian Constitution?

AR Giaere 7 fhdel YR & urger SIRT 7 o dhdt 872
Options:

1)1

2)5

3)7

4) 11

Correct Answer: 5

Candidate Answer: 7

QID : 80 - Who among the following raised Azad Hind Fauj?

ArAff@d & @ fraet 3aTe Reg WieT & wurer $r 4?
Options:

1) Jawahar Lal Nehru

STATER AT A%

2) Subhash Chandra Bose

Ty dg;

3) Mahatma Gandbhi

HETCHAT aifely

4) Lala Lajpat Rai

GIGIRSIS R e

Correct Answer: Subhash Chandra Bose
Y =iy

Candidate Answer: Lala Lajpat Rai
CUSIRSIS RS KL

QID : 81 - Sher Khan defeated Humanyu in 1539 and 1540 at which places respectively?

R I = GARY T 1539 AT 1540 3 HA: fohed Y FATA o TS fopam 2ar?
Options:

1) Agra and Delhi

3WRT T fgeel

2) Malwa and Gondwana

HATTaT 9T JNigaren

3) Chausa and Kannauj

AT gur eAtst

4) Berar and Chittor

RR T2 fcdls

Correct Answer: Chausa and Kannauj
T aT Fedle

Candidate Answer: Berar and Chittor

RN qur Rcdls

QID : 82 - 90 degrees north latitude marks what?

90 372r Iccly 37&T7er T G &7
Options:

1) South Pole

HEMRCH

2) North Pole

SR o

3) Equator

4) Prime Meridian

AT AR
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Correct Answer: North Pole
SR g

Candidate Answer: Equator

aYacd g
QID : 83 - What are the gaseas layers that surround the Earth called?

3 T O ST g2 T ART IR Y Al § 3R o wd 2
Options:

1) Lithosphere

EGEC)

2) Atmosphere

ST

3) Biosphere

SaFse

4) Hydrosphere

STAHSH

Correct Answer: Atmosphere
IIHSH

Candidate Answer: Biosphere
ShadAse

QID : 84 - In mammals, oxygenated blood enters the heart at the .

FATURAT 7 et gorer Tl W ST 7 JAT A B
Options:

1) Right atrium

g Jfole

2) Left atrium

I 3ifeig

3) Right ventricle

g e

4) Left ventricle

7 e

Correct Answer: Left atrium

i 31l

Candidate Answer: [ NOT ANSWERED ]

QID : 85 - Knee joint is .

geal 1 S5 g gl
Options:

1) Pivot joint

gt afeyr

2) Hinge joint

FR afey

3) Ball and socket joint
Freeh Gicolhl Aot

4) Gliding joint

farador afeer

Correct Answer: Hinge joint

I afeer

Candidate Answer: Ball and socket joint

Fgeh Gicolehl Aot

QID : 86 - Nephrons are connected with .

AT A
Options:

1) Respiratory system
T T

2) Nervous system
GIEEIIGE]

3) Circulatory system
qREEROT

4) Excretory system
et aF

Correct Answer: Excretory system

3cgsit JF

Candidate Answer: Respiratory system
qHA A
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QID : 87 - Sound takes some time to travel from one place to another. It will

eafeY Teh FU A GER T b I H T THAI oIl &1 Tg gl
Options:

1) always remains constant

FARI P Tl

2) be maximum during summer

et 7 1fehae g

3) be maximum during winter

TS # 3fwan grar

4) None of these

T W IS G

Correct Answer: be maximum during winter

& 3 31ftehas g

Candidate Answer: be maximum during summer

a1t & rferehaa @
QID : 88 - Which of the following is a non-luminous body?

TFAfaad & § et &1 U 3ded fvs &2
Options:

1) Burning candle

STelclT AHSCAT

2) Sun

S

3) Stars

ar

4) Planet

aqg

Correct Answer: Planet

Iqg

Candidate Answer: Burning candle

STeTclT #AFecAr

QID : 89 - What is the use of Bridge in computer networks?

FFYL Acadh H To¥st &7 sEaaATel ol forw faam s 872
Options:

1) Connect monitor and CPU

AifereT T €. 9. g, & Shger

2) Connect keyboard and CPU

FraE e Y. . 27, F S

3) Connect mouse and CPU

A3 74T @Y. . g, @SS

4) Connect two networks

& Acaay Y NS

Correct Answer: Connect two networks

& Aeaay Y NS

Candidate Answer: Connect two networks

&l gy Y SNgT

QID : 90 - Cathode rays have .

Frs o 7 g gl

Options:

1) Mass only

Fadl geIHTT

2) Charge only

el AT

3) Both mass and charge

GEAT AT 3T gt

4) Neither mass nor charge

o dr gegaAT 3R o & 3maer

Correct Answer: Both mass and charge
GEIHT 2T ALY AT

Candidate Answer: Both mass and charge
SSTATST AT A Gt

QID : 91 - The nucleus of the hydrogen atom is called as .

BTSZIoTel TRAT] T AT13Teh FgoITar gl
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Options:
1)pneutron
=gt
2) electron
Folerglel
3) proton
grete
4) positron
drshigiet
Correct Answer: proton
grete
Candidate Answer: proton

oicieT

QID : 92 - When air is contaminated by unwanted substances which have a harmful effect on both the living and non living is referred to as

ST g O 3Ty gerelt & GanT HEd 8 Sl § St welta aar s Qv & o s § 5@ e &
Options:

1) Water pollution

STel Yyt

2) Air pollution

arg Feuor

3) Noise pollution

eafer yguor

4) Soil pollution

T HegoT

Correct Answer: Air pollution

arg yeyor

Candidate Answer: [ NOT ANSWERED ]

QID : 93 - What is the annual premium (in Rs) of Pradhan Mantri Jeevan Jyoti Bima Yojana?

TUTAFAT gt s AT DT H arfds NEge (7 7) Faer &2
Options:

1) 12

2) 300

3) 330

4) 1200

Correct Answer: 330
Candidate Answer: 330

QID : 94 - Who invented Venn Diagram?

el INY HT IMTASHR Tohdel ThaT?
Options:

1) John Dalton

ST 3Teca

2) Max Bora

Heg awT

3) John Venn

Elckr

4) Louis Pasture

q$ IER

Correct Answer: John Venn
SiteT AT

Candidate Answer: John Venn
SiteT AT

QID : 95 - With which sport is the term 'Ace' associated?

o Wl & 'TH' A= 3T 82
Options:

1) Tennis

[ane:)

2) Basketball

SrEheaTe

3) Golf

Bl

4) Cycling

T TEeT

Correct Answer: Tennis

faw
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Candidate Answer: Tennis

faw

QID : 96 - The Khajuraho group of monuments in Madhya Pradesh consists of temples of which religion/religions?

FE T H WG TG F TANGH 7 vt ensy/erlt & Al §?
Options:

1) Hindu only

e fig

2) Jain only

Fael AT

3) Both Hindu and Jain

Téq aur Siet &=t

4) Neither Hindu nor Jain

TE Rg T o

Correct Answer: Both Hindu and Jain
féq aur it gt

Candidate Answer: Jain only

FHgel ST

QID : 97 - Who is the first women recipient of Ashok Chakra Award?

37eler sk YUEHR T TGl AfGell STectehall il 87
Options:

1) Neerja Bhanot

SRS =TT

2) Sakshi Malik

|raf Afow

3) Sanjana Thakur

HAelT ST

4) M Vijayalakshmi

A faerareres

Correct Answer: Neerja Bhanot
AT AT

Candidate Answer: Sakshi Malik
arefr #Aferw

QID : 98 - Who is the author of the book named 'Unaccustomed Earth'?

HATHECHS 3 ATHE TEcloh & o eh/ AT Hief §?
Options:

1) H.L Dattu

T Ul aﬁ

2) Jhumpa Lahiri

EcSlCIREl

3) Narinder Nath Vohra

ARET A g

4) Avinash Chander

3TN Tex

Correct Answer: Jhumpa Lahiri

Eies I GEl

Candidate Answer: [ NOT ANSWERED ]

QID : 99 - Which country is largest exporter of uranium to India in the year 2015-16?

ay 2015-16 F HRA F AT AT FT G F31 IS FieT a7 320 82
Options:

1) Afghanistan
HEMTAEdTT

2) Canada

hellST

3) Israel

SoIgel

4) Australia

et

Correct Answer: Canada
hellST

Candidate Answer: Israel
ESNECE
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QID : 100 - India's neighbouring country Bhutan has which type of government?

HRS & TSI 227 37eTeT 3 TR TR T TR &2
Options:

1) Federal Republic

HET IORST

2) Constiutional Monarchy

Ffgenfaes JsTemEr

3) Communist

AT

4) Military Dictatorship

He AT

Correct Answer: Constiutional Monarchy
afgenfaes JsTmEr

Candidate Answer: Communist

HIFEFATET
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